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General Instructions :

(i)

The question paper comprises two sections, A and B. You are to

attempt both the sections.

(i) All questions are compulsory.

(ii)

There is no choice in any of the questions.

(iv) All questions of Section A and all questions of Section B are to

(v)

(vi)

(vii)

(viii)

(ix)

(x)

31/1/2

be attempted separately.

Question numbers 1 to 3 in Section A are one-mark questions.

These are to be answered in one word or in one sentence.

Question numbers 4 to 6 in Section A are two-marks questions.

These are to be answered in about 30 words each.

Question numbers 7 to 18 in Section A are three-marks
questions. These are to be answered in about 50 words

each.

Question numbers 19 to 24 in Section A are five-marks

questions. These are to be answered in about 70 words each.

Question numbers 25 to 33 in Section B are multiple choice
questions based on practical skills. Each question is a
one-mark question. You are to select one most appropriate

response out of the four provided to you.

Question numbers 34 to 36 in Section B are two-marks

questions based on practical skills. These are to be answered in
brief-

3 [P.T.O.



HAT—-A
SECTION-A

1. 39 9uSdiE Ao o 98 1 Hel o -7 foriay et Jermicr
qg —Br gl

Write the molecular formula of first two members of homologous

series having functional group —Br.

2. wRar TR e S Rt © 7 I fafer <iftens § stere o1adfien ?

How does Planaria reproduce. Is this method sexual or asexual ?

3. o ! UTehfdeh qTRE I HIHT ST € ¢

Why is forest considered a natural ecosystem ?

4. IS ot 40 cm shaT oo % 39 g9 % WA 40 cm T W FR@ R
TYur g1 = wfdferes & 9 rfireteqon it g s |

An object is placed at a distance of 40 cm in front of a convex
mirror of radius of curvature 40 cm. List four characteristics of the

image formed by the mirror.

5. TeRfde HETEAT & HUING Jawed i STawehdl #1 & 7 JH-AH0 i
T B GH:3T1T I 75T 2 7

Why is sustainable management of natural resources necessary ?

Why is reuse better as compared to recycle ?

31/1/2 4



6. ey hifsu for T A k1 afmfard 91 a9 % 9%d Yeed &
foru fore werm Su=ft g ? 2

Explain how would the involvement of local people be useful for

successful management of forests.

7. = fou o vEmtae R s g i 3
(1 CH3COOH+Na,CO3——>
(i1)) CH4+0,——
(i) CoHsOH+Na——
Complete the following chemical equations :
(1 CH3COOH+Na,CO3——>
(1) CH4+0p——>

(iii) C,HsOH+Na——>

8. T e ARl X 3R Y o T I A C3Hg 3R C4H;o T 1
AT Foreeht deRem rfufsran gwiia <t s1ferr Evra &1 TeRdt ® 7
AU I Al gE AT | 8 v § weRen stfufsean it wfsen i
e o fotu qamfes gt ot G | 3

Two carbon compounds X and Y have the molecular formula
CsHg and C4Hjo respectively. Which one of the two is most
likely to show addition reaction ? Justify your answer. Also give
the chemical equation to explain the process of addition reaction in

this case.

31/1/2 5 [P.T.O.



9. s ad P (T g&AT 20) TRl o= @ Q (W] e 17) 9
AffsRT STk i AR ST ¢ | A= f3 TTe St T SReT |igd S
difsu
amyfreR sTmad Tt § P e Q i fedfa, qem P air Q i stfurfsm
10 4 AT 1 1T fafau |

An element P (atomic number 20) reacts with an element Q (atomic
number 17) to form a compound. Answer the following questions
giving reason :

Write the position of P and Q in the Modern Periodic Table
and the molecular formula of the compound formed when P reacts

with Q.

10. 3TEfR e Aol 3 Sed Tarwi o7 &fost ufrat o A faftaw | foret
Fed T H HW I A6 T R qcdl o dTfedes TTe0n § = aiaEd
gran 2 7 foreht afasr dfer & areff otr & arff ot S W vy frsen %
TTEs § 1 iEd ST © 7 3UAE ST JeRT o I ok g& W RO
e |

Write the names given to the vertical columns and horizontal rows

in the Modern Periodic Table. How does the metallic character of
elements vary on moving down a vertical column ? How does the
size of atomic radius vary on moving left to right in a horizontal
row ? Give reason in support of your answer in the above two

cases.

31/1/2 6



11. THa T IR AHa A& | Iufedrd oifiek ot afed el ot
AT 1 3FW HIRT | et HR foh <Afies S99 o aret St s
Tt | TUIEET <l T Skl H TR i T & auH foRd YRR st
Tl 2 | 3

Mention the total number of chromosomes along with the sex
chromosomes that are present in a human female and a human
male. Explain how in sexually producing organisms the number of
chromosomes in the progeny remains the same as that of the

parents.

12. TS § BF a1t Il ot 3g@ e o 3
(a) YU T (ATTUT) & STar 2 |

(b) W& g / 310 I o= T g |
State the changes that take place in the uterus when :
(a) Implantation of embryo has occurred.

(b) Female gamete / egg is not fertilised.

13. 1 EIA1E, S - 3
(a) TATT Y RE RT F3 TN H ohe STATR 7
(b) FrfEers S Uit Tiieft gar R S 2 7
(c) ulued Bre TEw719e i SHSOE (TTSET) e St 7 7

31/1/2 7 [P.T.O.



What happens when :
(a) Accidently, Planaria gets cut into many pieces ?
(b) Bryophyllum leaf falls on the wet soil ?

(¢) On maturation sporangia of Rhizopus bursts ?

14. “UThices T9F 3R SMfd 3g9aH S fasm =t Ui wad €777 39 ed
1 gfE i |

“Natural selection and speciation leads to evolution.” Justify this

statement.

15. TF H TH-Th A Id TC IWRa 3R AT A& & s
qTfetent o €9 | fawed i |

Differentiate between the acquired traits and the inherited traits in

tabular form, giving one example for each.

16. 15 3 cm AT 1 o7 12 cm RIhd G4 o FoRET Taaet qdoT o AT
18 cm 3 W f&¥a g | 39 gUur & forelt o o1 foRall gt W @ s
=(e ATl 39 e W foieet o1 T8 Widforst fa@rs @ | Tidfers i S off
TfehfeTd I |

A 3 cm tall object is placed 18 cm in front of a concave mirror of
focal length 12 cm. At what distance from the mirror should a
screen be placed to see a sharp image of the object on the screen.

Also calculate the height of the image formed.

31/1/2 8



17. AWE =7 qeuT YRR i HERAT ¥ ST oiE Sl dshdl H qHEde o
TRl & 3T 39 TR o 31 BIehd gt aiafdd &1 STt 2 | foret (a) qrewr
FEG 1, (b) Fehe 1 I¥g 1 T@d THF AT T8 I Fghar BT 37
FIeRd Gl T T aTcl TEHI ol 3@ ShiTST |
I 5 25 cm ¥ 9 g0 R Tq S¥qsti &l, 59 1 o foret T
fou Tz 1 9 <@ uTd, T HIT | 3

With the help of ciliary muscles the human eye can change its
curvature and thus alter the focal length of its lens. State the
changes that occur in the curvature and focal length of the eye lens

while viewing (a) a distance object, (b) nearby objects.

Explain, why a normal eye is not able to see distinctly the objects

placed closer than 25 cm, without putting any strain on the eye.

18. TR TteR fegm W formerd i I el a9 | TS W 3T
3G TR0 forv TR S o foIe g1 T g | 3
(a) TATIROT o SIS o foTu SIS W <l GReqT ot <hi ST =mfey ?
(b) H TRl 31 U Rl T ST fSes T # Sqees IR wh
MY 9 il # SITeehRal 3c0d il IR S TTEXT ok qI-a1y
TSI I o T&T ¥ off T g |

31/1/2 9 [P.T.O.



You have been selected to talk on “ozone layer and its protection”

in the school assembly on ‘Environment Day.’

(a)
(b)

19. (a)

(b)

(©)

(a)
(b)

(©)

31/1/2

Why should ozone layer be protected to save the environment ?

List any two ways that you would stress in your talk to bring in
awareness amongst your fellow friends that would also help in

protection of ozone layer as well as the environment.

T w11 <hi s fomr s wige fifsi |

forelt s o frsm @ o W eTmufad v weRTeT S staEt Jol
TagH o &9 4 fawes o1 2 9 2, =2 fifse ?

TSI I ST ATHTIoR R0 ST TieeRt q9Tsy |

Draw a ray diagram to explain the term angle of deviation.

Why do the component colours of incident white light
split into a spectrum while passing through a glass prism,

explain.

Draw a labelled ray diagram to show the formation of a

rainbow.

10



20. 3TA < o YR § forat gl (u) o @y wfdferst g8 (v) § fo=wor
T areft = & Wit Seqor anfersrt 1 fargeror ifste o7 ufeem R

form & ffeTRaa At o 3T 2 - 5
E ot fifer g
e u (cm) v (cm)
1 -90 +18
2 - 60 +20
3 —-30 + 30
4 -20 + 60
5 - 18 + 90
6 -10 + 100

(a) 3T T1E ol BT T 1§ ¢ 37T I o 98T H R0 ST |

(b) 39 J&gu1 1 hH TeA fafaw st o 72 2| I T ot fora
YRR TehTeT 7

(c) @3 off 3fa I TR YU WA 4 % TIU TR TR o
Hifeu 37 3rraelT o1 T 7 1 fifsr |

31/1/2 11 [P.T.O.



Analyse the following observation table showing variation of
image distance (v) with object distance (u) in case of a convex lens

and answer the questions that follow, without doing any

calculations :
S. No. | Object distance Image distance

u (cm) v (cm)

1 -90 +18

2 - 60 +20

3 —-30 + 30

4 -20 + 60

5 - 18 + 90

6 -10 + 100

(a) What is the focal length of the convex lens ? Give reason in

support of your answer.

(b) Write the serial number of that observation which is not correct.

How did you arrive at this conclusion ?

(c) Take an appropriate scale to draw ray diagram for the
observation at S. No. 4 and find the approximate value of

magnification.

31/1/2 12



21. (a) T THRT0T SR@H i AT L w9 W TR o1 fRon g €,
et gdur & qreds & Uyt Y fewm S T S g © | v
31 TRt 1 gt SIS 37 31adet SUUT o YRl | TXTE o 9T,
3 ToRoT & 9ol o1 g hifNT | 31 ST foon o1 39T, 3Terad
TUUT o o 3R BiRd & o= fera ot forear o6 wfafers 6 feufa,
RIS FoRtur STR@ Wiieet FTd 3 | SHIfSTT |

(b) FE dA U I WA 20 cm W W @ Fret fomm
1 14 T srrafefd wffors ud W sATEan ® | uet fow @ foRat g
R 5

(a) To construct a ray diagram we use two rays which are so chosen
that it is easy to know their directions after reflection from the
mirror. List two such rays and state the path of these rays after
reflection in case of concave mirrors. Use these two rays and
draw ray diagram to locate the image of an object placed

between pole and focus of a concave mirror.

(b) A concave mirror produces three times magnified image on a
screen. If the object is placed 20 cm in front of the mirror, how

far is the screen from the object ?

31/1/2 13 [P.T.O.



22. GIgH TR TIUTSIh ST & AUl o YR & | 39 aH § =R faafaw |
T 1 TwTg fsha i TR farfer forRaw | a1 sheRr <1t o @ =i
FIT T I 7 TG o T W fEeTSel 1 ITANT A & HRO 30
B oTed! foredl &1 TmaT} Rt 3g@ AT |

Soaps and detergents are both types of salts. State the difference
between the two. Write the mechanism of the cleansing action of
soaps. Why do soaps not form lather (foam) with hard
water ? Mention any two problems that arise due to the use of

detergents instead of soaps.

23. TS o FAMI g1 € fohd TeRR [Tl g foh
(a) EI0T TS ST STATE Bid & 7

(b) 3 AT T I BT Toh-go § T Sl ¢ ¢
How do Mendel’s experiments show that
(a) traits may be dominant or recessive ?

(b) 1inheritance of two traits is independent of each other ?

24. (a) WS T % 3 3 &I AW TARIT ST I[ERI[3TT ok THT0T o Frer-aner
T EHM 1 Gaul ol AT 2 | 39k FN FIford &IH T8 IR
i faRa |
(b) TS HTET S o o 3 9 b1 7 farRae st fiem gran #
(c) = HifTe 3 Arar o YRR & fier foshfira & yor =1 wor form
TR BT ¢ |

31/1/2 14




(a) Name the organ that produces sperms as well as secretes a
hormone in human males. Name the hormone it secretes and

write its functions.

(b) Name the parts of the human female reproductive system where

fertilisation occurs.

(¢) Explain how the developing embryo gets nourishment inside the

mother’s body.

AR
SECTION-B

25. Trafafad 9 @ wasTa o & Sg= i gHT: 1

(a) e AR feraeft & o@
(b) THTES 3R Fe[ h TG

(c) T, STk 3R feushett o TUTe

(d) foae 3R Twee % u@

Select the set of homologous organs from the following :
(a) Wings of pigeon and a butterfly

(b) Wings of bat and a pigeon

(¢) Forelimbs of cow, a duck and a lizard

(d) Wings of butterfly and a bat

31/1/2 15 [P.T.O.



26. I o SISt o YUT R &0 A TH foRelt B T e e g gt &

SSITeen, SSUSER, Sied=, oF:shdad, T, AT |
T4 G I e e HEied A I8 fewvll 3, o 370 § A e W
B T T | 3 1 T 9T R 5 R

(a) o, sSTTEon, g

(b) SISO, TR, ATIL

(c) ST, 37d-Fhae, TATEH

(d) =S, sSvegR, TaR

A student while observing an embryo of a gram seed listed various

parts of the embryo as listed below :

Testa, Micropyle, Cotyledon, Tegmen, Plumule, Radicle.
On examining the list the teacher commented that only three parts
are correct. Select these three correct parts :

(a) Cotyledon, Testa, Plumule

(b) Cotyledon, Plumule, Radicle

(¢) Cotyledon, Tegmen, Radicle

(d) Cotyledon, Micropyle, Plumule

31/1/2 16



(@ 2,4,1,3
(b) 2,1,4,3
(c) 1,2,4,3

d 2,1,3,4

The correct sequencing of angle of incidence, angle of emergence,

27. = iU U g H 3Tua hiun, T ShiT, STUerd ShIvT qe difvden
foreena =0t 3T4Rl 1, 2, 3, 3R 4 510 T 9 | fohe yehR ewiian e 7

angle of refraction and lateral displacement shown in the following

diagram by digits 1, 2, 3 and 4 is :

(@ 2,4,1,3
(b) 2,1,4,3
(c) 1,2,4,3

d 2,1,3,4

31/1/2
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28. il fau T 31Tt § wE 3ifoRd ior 2 -

(@) LA Le

(b) Li,ZAIAX LD
() LA ZLr3R Le
d) LA, Zr3R 2D

In the following diagram the correctly marked angles are :

(a) LAandZLe
(b) Li,ZAand LD
(c) LA, Lrand Le

(d) ZA, Zrand ZD

31/1/2 18



29. Ife 319 Iaa | g e ey fore, et sgfa fo A T R, &

yfcrfsrsl ol 9e 9T Riehibd od 8,
T
a1 ue W 39 forrat o wfdfers it errepfa 2t :
i
(a) (b) (c)
a \L C

(d) |

If you focus the image of a distant object, whose shape is given

below, on a screen using a convex lens,

the shape of the image of this object on the screen would be :

(a)

31/1/2

)

(b)

(c)

19

@
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30. o B A, B 3R C 3 forelt gy wam =it oTaddt guur it gerar ¥ ue
T R R | T @ ) B g fef e % f R
freafafaa git i :

B A - 0 o A g

B B : Wa 9 9¢ % ol T

B C : Wa | Y0 T ol

T BIhE g A9 1T /9T BT 8 /% -

(a) Fad A

(b) Faa B

(c) ASRB

(d) B3R C

Three students A, B and C focussed a distant building on a screen
with the help of a concave mirror. To determine focal length of the
concave mirror they measured the distances as given below :
Student A : From mirror to the screen

Student B : From building to the screen

Student C : From building to the mirror

Who measured the focal length correctly :
(a) Only A

(b) Only B

(c) AandB

(d) BandC

31/1/2 20



31. TAFTRITAT | AR i stfufsan i gerie / Fefia e & foe aa
TR AR o1 1=t T T 61 | wse wed 31ferek 3ugeh @ ? 1

(a) T I A R HKfcHTH TESIFES
(b) TUE T dcA AR Hhictam TSRS
(c) TRIH I ad 7R HITSTH TEGIFAES
(d) TEl 1 A AR AT TESAES

For demonstrating the preparation of soap in the laboratory which
of the following combinations of an oil and a base would be most
suitable ?

(a) Mustard oil and calcium hydroxide

(b) Castor oil and calcium hydroxide

(¢) Turpentine oil and sodium hydroxide

(d) Mustard oil and sodium hydroxide

32. foreht ® 3 9IR @A™t P, Q, R 3R S off 3R yedss 4 &9 8 mL
ST ST W | TeawaTd, 38 W@qel! P H Na,SOy4, Q¥ K,S04, RH

CaSOy4, ST MgSO, it TuH AT =ief! | Yeish TTeEel! | T
oo it a9 e TR 38 vefl-Ter faefifed e w38 om
et | T W1 | S UTE 8, 98 W © 1

(2) P3Q
(b) P3M R
(c) P,Q3Mm S
(d Q,R3M S

31/1/2 21 [P.T.O.



33.

A student took four test tubes P, Q, R and S and filled about 8 mL
of distilled water in each. After that he dissolved an equal amount
of Na,SO4 in P, K,SO4 in Q, CaSOy4 in R and MgSOy4 in S. On
adding an equal amount of soap solution and shaking each test tube
well a good amount of lather will be obtained in the test tubes :

(a) Pand Q

(b) Pand R

(c) P,QandS

(d Q,RandS

AT I IR WEA=Al, A, B, C 3 D ¥ HHST: AIgIq FHaHe,
Tifeam FarEe, 99 & I R it forerw o e W E I T @
frg / T arEaferit % vared w1 ST TR / udnTEs ova % Tel
&7 o foTT AT S T ¢

(a) I A

(b) A3MB

(c) B3R C

(d) ARD

You have four test tubes, A, B, C and D containing sodium
carbonate, sodium chloride, lime water and blue litmus solutions
respectively. Out of these the material of which test tube / test tubes
would be suitable for the correct test of acetic / ethanoic acid ?

(a) only A

(b) AandB

(c) BandC

(d) Aand D

31/1/2 22



34, FIE B 10 cm HIRT T H1 3T I Tioht HIHeI h! ST i oid d
AT 60 cm G W WAl & 3 SaTer o Jfdferst 1 96 W Blepfad
AT 2 | $Heh UvEq o Sotell bl efit-fi i Y 3R aehrar Sian @
3R T IR Hfcifers l 9q W hishiad Wi i ¢ | 2

(a) SATAT o Yfcferel ol BIshidd S o Tt a8 ue ol fohd ST ThTan
B- 0 Al AR AT AT A G ?

(b) fcfsrt o |TEST § T Yiad g & ¢

(c) SaTell sl oF & ke @ W wfdfses it dfigar § @ gied g
27

(d) < @ T feRaHt g0 TR SATET i T T 3T GUH A1g 6 3ol
yfafers AT 2 7

A student places a candle flame at a distance of about 60 cm from a
convex lens of focal length 10 cm and focuses the image of the
flame on a screen. After that he gradually moves the flame towards

the lens and each time focuses the image on the screen.

(a) In which direction-toward or away from the lens, does he move
the screen to focus the image ?

(b) How does the size of the image change ?

(c) How does the intensity of the image change as the flame moves
towards the lens ?

(d) Approximately for what distance between the flame and the
lens, the image formed on the screen is inverted and of the same

size ?

31/1/2 23 [P.T.O.



35. 5o oY forell qrEeelt § Oifedy qIEgieM #reiHe 1 T3St ol 35
UHITEh 317 ST &, 1 G o disl JadaTae o |1 hig 19 feherd & |
39 19 &1 90 TR 3T 38 Teur &1 quiH HiSE Sl 39 119 6l 989
Y Fa 2|

A gas is liberated immediately with a brisk effervescence, when
you add acetic acid to sodium hydrogen carbonate powder in a test
tube. Name the gas and describe the test that confirms the identity
of the gas.

36. 39 ITAMHR SH9 & YRR K 9 fAfgu fSad v S hIfsen 4 a1
Tafe HIfRTRIsT 1 FHior grar 8 TR S HIfmeh w1 i T &

ST 8 | 3T TUH =1 1 3T HIST S8 30 TR o S ol 3T
TId1 ® | 39 S o U a1 =0Tl o 3TR@ EifHu |

Name the type of asexual reproduction in which two individuals
are formed from a single parent and the parental identity is lost.
Write the first step from where such a type of reproduction begins.

Draw first two stages of this reproduction.

31/1/2 24



